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1 Question Description Which of the following land, under Code of Comunidade, no leases can be given of:
A Land of Common usage
B Land of indispensable for cattle grazing
c Land used as access of neighbours
D All of the above
E None of the above
Correct Answer D

Marks 1



Question Description No person, under cigrette and other tobacco products Act, shall sell, offer for sale, or permit sale of, cigarette or any other tobacco

product in an area within a radius of -------- yards of any educational institution.
A Two hundred yards
B Fifty yards
c One hundred fifty yards
D Hundred yards
E None of the above
Correct Answer D

Marks 1



Question Description Which of the following amendment to the Goa Daman and Diu Agricultural Tenancy Act is commonly known as “Land to the

Tiller Act”.

A The Goa Daman and Diu Agricultural Tenancy ( First Amendment ) Act

B The Goa Daman and Diu Agricultural Tenancy ( Second Amendment ) Act

c The Goa Daman and Diu Agricultural Tenancy ( Fourth Amendment ) Act

D The Goa Daman and Diu Agricultural Tenancy ( Fifth Amendment ) Act

E None of the above

Correct Answer D

Marks 1

Question Description Under Sec. 142 of Land Revenue Code , in all cases of sale of immovable property the party who is declared to be the purchaser
shall be required to deposit immediately ------------- of amount of his bid.

A 10%

B 15%

c 20%

D 25%

E None of the above

Correct Answer D

Marks 1



Question Description Agriculture comes under --------- entry of State list .

A 14

B 15

(o 16

D 17

E None of the above

Correct Answer A

Marks 1

Question Description Under which of the following section of Goa Daman and Diu Agricultural Tenancy Act, Mamlatdar may grant temporary

injunction restraining dispossession of tenant

A Sec.8(a) (1)

B Sec.8(a) (2)

c Sec.8(a)(3)

D Sec.8(a)(4)

E None of the above
Correct Answer Cc

Marks 1



Question Description Which entry in the State List deals with agriculture

A Entry 13

B Entry 14

c Entry 15

D Entry 16

E None of the above
Correct Answer B

Marks 1

Question Description Under which article of Code of Comunidade the paddy fields of Comunidades will be leased by auction for a period of six years
A Article 289

B Article 290

c Article 291

D Article 292

E None of the above
Correct Answer C

Marks 1



Question Description Article 31 C was inserted in the Constitution of India by way of the ------------- Amendment.

A 24" Amendment
B 25 Amendment
c 26" Amendment
D 27" Amendment
E None of the above
Correct Answer B

Marks 1

Question Description No revenue shall be leviable in respect of alluvial land, under Land Revenue Code, unless the area of the same exceeds ------
A Half hectare

B One hectare

c Two hectare

D Quarter hectare

E None of the above
Correct Answer A

Marks 1



11

12

Question Description

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Any plaintiff subscribing and verifying any plaint under Goa, Daman and Diu Mamlatdar’s court Act 1966 which he either knows
or believes to be false, or does not believe to be true, in any material point, shall be deemed to have committed an offence
punishable under

Sec.191 of IPC
Sec.192 of IPC
Sec.193 of IPC
Sec.194 of IPC

None of the above

C
1

Which entry in the State list deals with transfer of agricultural land
Entry 18
Entry 19
Entry 20
Entry 21

None of the above



13 Question Description The ordinary meetings of the Comunidades shall take place during the first fortnight of

A February, March , April and December
B March , April , June and November

c April , May, June and November

D March, April, May and December

E None of the above

Correct Answer D

Marks 1



14" Question Description Which of the following conditions are not correct with regard to surrender by tenant under Sec.10 of Goa Daman and Diu

Agricultural Tenancy Act

A The surrender is made at least three months before the commencement of the year
B It is made by the tenant in writing and is admitted by him before the Mamlatdar

c It is made voluntarily and in good faith to the satisfaction of the Mamlatdar

D It is approved by the Mamlatdar

E None of the above

Correct Answer A

Marks 1



15 Question Description What is the limitation period to approach mamlatdar’s court under Goa, Daman and Diu Mamlatdar’s Court Act 1966

A Six months

B One year

c Two years

D Three years

E None of the above

Correct Answer B

Marks 1

16 Question Description What is the limitation period for application to be made for legal heirs to come on record under Goa, Daman, and Diu Mamlatdars

court Act

A one month

B Two months

c Three months

D Fifteen days

E None of the above

Correct Answer A

Marks 1



17" Question Description Which section of the Goa Land Revenue Code deals with procedure for conversion of use from one purpose to another

A Sec.32
B Sec.37
c Sec.39
D Sec.21
E None of the above
Correct Answer A
Marks 1
18 Question Description Managing committee of Comunidade under Article 40 of Code of Comunidade shall be composed of
A Two members
B Three members
c Five members
D Six members
E None of the above
Correct Answer B

Marks 1



19

20

Question Description

A

Correct Answer

Marks

Question Description

Correct Answer

Marks

Under which of the following circumstance Mamlatdar shall return the plaint under Mamlatdar Courts Act
Where the plaintiff declines to make a statement on oath

The relief claimed is not , one of the kind specified in Sec.4

Where the plaintiff declines to subscribe or verify the plaint

The subject of the plaint is not within his jurisdiction

None of the above

Under which section of Goa, Daman and Diu Mundkars ( Protection from eviction) Act 1975 empowers the mamlatdar may by

order temporary injunction restraining the bhatkar from evicting mundkar ?
Sec.5
Sec.6
Sec.7
Sec.8

None of the above



21" Question Description The Goa, Daman and Diu Mundkars( protection from Eviction) Act 1975, came into force on

A 121 April ,1976

B 12" March 1976

c 12t May 1976

D 12" February 1976
E None of the above
Correct Answer B

Marks 1



22 Question Description If the tenant is willing to purchase the land under Sec.13 A of Goa Daman and Diu Agricultural Tenancy Act i.e Tenant’s right of

first purchase, but contends that the price specified in the notice is excessive he may apply to the

A Mamlatdar within 30 days of the receipt of notice
B Collector within 30 days of the receipt of notice
c Mamlatdar within 90 days of the receipt of notice
D Collector within 90 days of the receipt of notice
E None of the above

Correct Answer B

Marks 1



23 Question Description What is the term of settlement under sec.78 of the Goa Daman and Diu Land Revenue Code ?

A 12 years

B 20 years

Cc 30 years

D 60 years

E None of the above
Correct Answer C

Marks 1



24 Question Description Under Section 23 of Goa Daman and Diu Agricultural Tenancy Act , the rent payable by a tenant to landlord in respect of any land

shall not exceed

A One third of gross produce of the land
B One fifth of gross produce of the land
c One sixth of gross produce of the land
D One tenth of gross produce of the land
E None of the above

Correct Answer C

Marks 1

25 Question Description Under Sec.23 of Goa, Diu and Daman Land Revenue Code ,If an occupant dies intestate and without known heirs, the collector

shall take possession of his occupancy and may lease it for a period of ------

A One year at a time

B Two years at a time
c Three years at a time
D Six months at a time
E None of the above
Correct Answer A

Marks 1



26 Question Description For regularization of encroachment under Sec.38 of Goa, Diu and Daman Land Revenue Code . Government can charge the person

making the encroachment a sum not exceeding ----------- the value of the land so encroached
A Two times
B Three times
c Four times
D Five times
E None of the above
Correct Answer D

Marks 1



27 Question Description Which section of Goa , Daman and Diu Mundkars ( Protection from eviction ) Act bars attachment, seizure or sale of interest of

mundkar in his dwelling house ?

A Sec.19

B Sec.18

c Sec.17

D Sec.16

E None of the above
Correct Answer A

Marks 1



28 Question Description Dwelling house ,under Sec.2(i) of Goa, Daman and Diu Mundkars (protection from eviction) Act 1975, includes the land on which
the dwelling house is standing and the land around and appurtenant to such dwelling house, subject to a maximum limit of -----------
if the land is on the appointed date within the jurisdiction of a Village Panchayat, from the outer walls of dwelling house.

A Two meters

B Five meters

c Three hundred square meters
D Two hundred square meters
E None of the above

Correct Answer B

Marks 1



29 Question Description Under Goa Daman and Diu Agricultural Tenancy Act , agriculture does not includes

A Horticulture
B Raising of food crops
c Allied pursuits
D Grass or garden produce
E None of the above
Correct Answer C
Marks 1
30 Question Description Every appeal or application for revision under Goa Daman and Diu Agricultural Tenancy Act shall be filed within a period of -------

---- from the date of the order of Mamlatdar.

A Thirty days

B Sixty days

(@ Ninety days

D Fifteen days

E None of the above
Correct Answer B

Marks 1



31

Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions given below: -

The examination system is both an opiate and a poison. It is an opiate because it lulls us into believing that all is well when most is
ill. ‘Look,’ the public says, ‘at this list of scholarships; see how many children have got their School Certificates: something is
happening; the school is doing its job.” Something no doubt is happening; but it may not be education: it may be the administration
of a poison which paralyses or at least slows down the natural activities of the healthy mind. The healthy human being finding
himself a creature of unknown capacities in an unknown world, wants to learn what the world is like, and what he should be and do

in. To help him in answering these questions is the one and only purpose of education
As an opiate and a poison, the examination system respectively

paralyses or slows down natural activities and lulls the healthy mind

lulls the healthy mind and paralyses or slows down its physical activities

paralyses or slows down natural activities and lulls the mind

lulls the healthy mind and paralyses or slows down its natural activities

None of the above



32 comprehension Read the following passage and answer the questions given below: -

The examination system is both an opiate and a poison. It is an opiate because it lulls us into believing that all is well when most is
ill. ‘Look,’ the public says, ‘at this list of scholarships; see how many children have got their School Certificates: something is
happening; the school is doing its job.” Something no doubt is happening; but it may not be education: it may be the administration
of a poison which paralyses or at least slows down the natural activities of the healthy mind. The healthy human being finding
himself a creature of unknown capacities in an unknown world, wants to learn what the world is like, and what he should be and do

in. To help him in answering these questions is the one and only purpose of education

Question Description Complete the following statement using a suitable option from among those provided below:
The overall passage implies that the public is impressed with the misconception

A created by the list of scholarships
B that the school is doing its job

c that the school is doing its job

D that something is happening

E None of the above

Correct Answer C

Marks 1



33 Comprehension

Question Description

Correct Answer

Marks

Read the following passage and answer the questions given below: -

The examination system is both an opiate and a poison. It is an opiate because it lulls us into believing that all is well when most is
ill. ‘Look,’ the public says, ‘at this list of scholarships; see how many children have got their School Certificates: something is
happening; the school is doing its job.” Something no doubt is happening; but it may not be education: it may be the administration
of a poison which paralyses or at least slows down the natural activities of the healthy mind. The healthy human being finding
himself a creature of unknown capacities in an unknown world, wants to learn what the world is like, and what he should be and do
in. To help him in answering these questions is the one and only purpose of education

The statement “The examination system lulls us into believing that all is well when most is ill” implies that it makes us falsely

confident and relaxed that

all is not well with it, some is ill.
nothing is ill in it, when most is.
most is well with it, when some is ill.
most is ill with it, some is well.

None of the above



34 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions given below: -

The examination system is both an opiate and a poison. It is an opiate because it lulls us into believing that all is well when most is
ill. ‘Look,’ the public says, ‘at this list of scholarships; see how many children have got their School Certificates: something is
happening; the school is doing its job.” Something no doubt is happening; but it may not be education: it may be the administration
of a poison which paralyses or at least slows down the natural activities of the healthy mind. The healthy human being finding
himself a creature of unknown capacities in an unknown world, wants to learn what the world is like, and what he should be and do

in. To help him in answering these questions is the one and only purpose of education

The term ‘opiate’ is used in the passage to suggest its ----- effect.

narcotic

addictive

analgesic

social

None of the above



35 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions given below: -

The examination system is both an opiate and a poison. It is an opiate because it lulls us into believing that all is well when most is
ill. ‘Look,’ the public says, ‘at this list of scholarships; see how many children have got their School Certificates: something is
happening; the school is doing its job.” Something no doubt is happening; but it may not be education: it may be the administration
of a poison which paralyses or at least slows down the natural activities of the healthy mind. The healthy human being finding
himself a creature of unknown capacities in an unknown world, wants to learn what the world is like, and what he should be and do

in. To help him in answering these questions is the one and only purpose of education
As per the passage, the sole objective of education is to help an individual

find himself in the unknown world and enjoy it well.

know the world, himself and live ideally well in the world.

know the world, his ideal potential and function in the world.

reveal his unknown capacities in an unknown world.

None of the above

C
1



36 Comprehension

Question Description

Correct Answer

Marks

Read the following passage and answer the questions given below: -

When we begin to study a phenomenon, we do not actually know what we are studying. In order to learn more about it, we
formulate a hypothesis. It is important to keep in mind however, that until we thoroughly test our hypothesis and compare the
results of our experiments with its predictions, we are not on solid ground. Of course, where there are gaps in our knowledge, we
must have a hypothesis, but we must also test that hypothesis—rigorously and with an uncompromising regard for the truth. Where
the hypothesis is inaccurate, we must do more research. The hypothesis of the industrial civilization was that by acquiring and
consuming more things we would become more happy, fulfilled, and healthy. Every day, this seems less likely

Find the word or phrase from the passage that can be an alternative for “an untested idea suggested as an explanation for

something”
hypothesis
phenomenon
experiment
prediction

None of the above



37 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions given below: -

When we begin to study a phenomenon, we do not actually know what we are studying. In order to learn more about it, we
formulate a hypothesis. It is important to keep in mind however, that until we thoroughly test our hypothesis and compare the
results of our experiments with its predictions, we are not on solid ground. Of course, where there are gaps in our knowledge, we
must have a hypothesis, but we must also test that hypothesis—rigorously and with an uncompromising regard for the truth. Where
the hypothesis is inaccurate, we must do more research. The hypothesis of the industrial civilization was that by acquiring and
consuming more things we would become more happy, fulfilled, and healthy. Every day, this seems less likely

The formulation of a hypothesis is a must when we
begin to study

begin to experiment

find gaps in our knowledge

have a regard for truth

None of the above

C
1



38 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions given below: -

When we begin to study a phenomenon, we do not actually know what we are studying. In order to learn more about it, we
formulate a hypothesis. It is important to keep in mind however, that until we thoroughly test our hypothesis and compare the
results of our experiments with its predictions, we are not on solid ground. Of course, where there are gaps in our knowledge, we
must have a hypothesis, but we must also test that hypothesis—rigorously and with an uncompromising regard for the truth. Where
the hypothesis is inaccurate, we must do more research. The hypothesis of the industrial civilization was that by acquiring and
consuming more things we would become more happy, fulfilled, and healthy. Every day, this seems less likely

Select from the following options the one that is closely synonymous with “absolute or undeviating or unyielding”
rigorous

uncompromising

inaccurate

thorough

None of the above



39 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions given below: -

When we begin to study a phenomenon, we do not actually know what we are studying. In order to learn more about it, we
formulate a hypothesis. It is important to keep in mind however, that until we thoroughly test our hypothesis and compare the
results of our experiments with its predictions, we are not on solid ground. Of course, where there are gaps in our knowledge, we
must have a hypothesis, but we must also test that hypothesis—rigorously and with an uncompromising regard for the truth. Where
the hypothesis is inaccurate, we must do more research. The hypothesis of the industrial civilization was that by acquiring and
consuming more things we would become more happy, fulfilled, and healthy. Every day, this seems less likely

In the statement “...and compare the results of our experiment with its prediction”, the phrase “its prediction” implies
the prediction of the hypothesis

the prediction of the experiment

the prediction of a new phenomenon

the rigorous test of truth

None of the above



40" Comprehension Read the following passage and answer the questions given below: -

When we begin to study a phenomenon, we do not actually know what we are studying. In order to learn more about it, we
formulate a hypothesis. It is important to keep in mind however, that until we thoroughly test our hypothesis and compare the
results of our experiments with its predictions, we are not on solid ground. Of course, where there are gaps in our knowledge, we
must have a hypothesis, but we must also test that hypothesis—rigorously and with an uncompromising regard for the truth. Where
the hypothesis is inaccurate, we must do more research. The hypothesis of the industrial civilization was that by acquiring and
consuming more things we would become more happy, fulfilled, and healthy. Every day, this seems less likely

Question Description “The hypothesis of the industrial civilization was that by acquiring and consuming more things we would become more happy,

fulfilled, and healthy”. The passage suggests that on the basis of our experience and observation,

A it is proven and established
B it needs another hypothesis
c it is unlikely to be true

D it is unlikely to be false

E None of the above

Correct Answer C

Marks 1



41

42

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Who conceptualized the 'Mera Bill Mera Adhikar' scheme?

Indian Parliament

Reserve Bank of India (RBI)

Central Board of Indirect Taxes and Customs (CBIC)

Ministry of Finance

None of the above

C

Which country received the torch of Startup 20 from India?

Cyprus

Brazil

New Zealand

Netherlands

None of the above



43 Question Description Which Indian state is setting up India's first Atal Incubation Centre in fisheries?

A Maharashtra
B Kerala
c Tamil Nadu
D Andhra Pradesh
E None of the above
Correct Answer B
Marks 1
44 Question Description Which state government has decided to permit all restaurants across the state to operate 24x7?
A Jharkhand
B Rajasthan
(o] Haryana
D Punjab
E None of the above
Correct Answer C

Marks 1



45 Question Description Where has Amazon India opened its first-ever floating store?

A Gulab lake
B Sita lake
c Dal Lake
D Champaran lake
E None of the above
Correct Answer C
Marks 1
46 Question Description From which state is External Affairs Minister S. Jaishankar filing his nomination for Rajya Sabha?
A Gujarat
B Sikkim
c Bihar
D Andhra pradesh
E None of the above
Correct Answer A

Marks 1



47" Question Description Which country recently handed over 105 antiquities to India?

A USA
B Bhutan
c China
D Cuba
E None of the above
Correct Answer A
Marks 1
48 Question Description When is World Sports Journalist Day observed?
A May 02
B June 02
c July 02
D August 02
E None of the above
Correct Answer C

Marks 1



49 Question Description What is the name of the world's largest private communications satellite recently launched by SpaceX?

A Jupiter 1
B Jupiter 2
c Jupiter 3
D MarsSat
E None of the above
Correct Answer C
Marks 1
50 Question Description On which date is National Mango Day celebrated?
A July 20
B July 21
(0 July 22
D July 23
E None of the above
Correct Answer C

Marks 1



51

Question Description

Correct Answer

Marks

Kindly study the paragraph given below and answer the question that follows.

Recently, the Sensex 30 hurtled past 36,000 and the Nifty50 scaled 11000, voices of caution were drowned out by those celebrating
the fastest 1000-point gain in the Sensex. Domestic market players continue to conjure up a variety of justifications for these gains
— IMF’s bullish forecast, earnings revival, budget reforms, the January effect and surging domestic flows. But Indian investors still
have the most to worry about a possible melt-up scenario, because with the Sensex 30 is one of the most expensive markets in the
world and at the current levels, allows little margin of safety for disappointments. Inveterate bulls argue that this time it’s different
because India’s stock rally in the last three years has been powered more by sticky domestic retail money, than fickle foreign flows.

Which of the following weakens the claim that the stock rally would be a sustained one this time?

I. Market intermediaries and funds have everything to gain from ballooning assets.

II. The Sensex 30’s price-earnings ratio is at 25.2 times and is at a very steep valuation already.

II1. Most of the domestic money flooding into equities now is not from patient or informed investors.
Only III

Only I and IT

Only II and III

Only I and I1I

None of the above



52 Question Description
From the given Answer Figures select the one in which the QuestionFigure is hidden/embedded.

\V/ \VAY/

A A
B B
Cc C
D D
E None of the above
Correct Answer C

Marks 1



53 Question Description Directions: The questions are based on five words given below:
FOX JUG BAT MIX SIT

If the given words are arranged in the order as they would appear in the English dictionary order from left to right, the position of
which of the following will not change when compared to the given positions?

A Only MIX

B Only SIT

c Both JUG and BAT
D Both MIX and SIT
E None of the above
Correct Answer D

Marks 1



54 Question Description Directions: The below mentioned question is to be answered using the statements I and II given below. You have to determine the
statement(s) which is/are sufficient to answer the question and mark the option accordingly.
8 persons viz. B,D,K,F,H,J,L and N are standing in a linear row facing towards the north. What is the position of H from the right
end, if number of persons between H and E are 2?
Statement I : F is second to the left of G, who is on the immediate right of H. No person stands between J and B. B is second to the

left of E.
Setat;)ment IT : E is third to the right of B. J is not an immediate neighbor of L. F and L are not adjacent. H is on the immediate right
of F.

A If the data in statement I alone is sufficient to answer the question

B If the data in statement II alone is sufficient to answer the question

c If the data in statements I and II is necessary to answer the question

D If the data in statements I and II is not sufficient to answer the question

E None of the above

Correct Answer D

Marks 1



55 Question Description Find the number of triangles in the given figure.

-,
A 27

B 25

c 23

D 21

E None of the above
Correct Answer A

Marks 1



56 Question Description Directions : In question, some statements are given, followed by two conclusions I and II. You have to consider the statements to be
true, even if they seem to be at variance from commonly known facts. You have to decide which of the given conclusions, if any,
follow from the given statements. Indicate your answer.

Statements:

All pens are pencils

No pencil is an eraser
Conclusions:

I. No eraser is a pen

II. No pencil is an eraser

A If only conclusion I follow

B If only conclusion II follow

c If neither conclusion I nor conclusion II follows
D If both the conclusions follow

E None of the above

Correct Answer D

Marks 1



57 Question Description Select the missing from the given alternatives:

w
D R
7
@] S
S
A 97
B 180
c 79
D 98
E None of the above
Correct Answer D

Marks 1



58 Question Description Select the related word/letters/number from the given alternatives.
ACD : ZWX ::FHJ : ?

A QSU
B uQs
( SQU
D UsQ
E None of the above
Correct Answer B
Marks 1
59 Question Description The last day of a century cannot be
A Monday
B Wednesday
(6 Tuesday
D Friday
E None of the above
Correct Answer Cc

Marks 1



60 Question Description Working individually Piky, Quiky and Riky finish an assignment in 7, 8 and 11 days respectively. They work together on a project
and are paid 1105 silver coins for it. Find the share of each of them in the earnings.

A Piky = 440 coins; Quiky = 385 coins; Riky = 280 coins
B Piky = 445 coins; Quiky = 375 coins; Riky = 285 coins
c Piky =446 coins; Quiky = 381 coins; Riky =278 coins
D Piky = 500 coins; Quiky = 400 coins; Riky = 205 coins
E None of the above

Correct Answer A

Marks 1



61 Question Description

IT + stands for division; »* stands for addition; — stands for multiplication; + stands for subtraction,
which of the followingis correct?

1.15+5x2-6+3=28
2.15x54+2-6+3=56.5
3.1545-2+6%3=3

4.15-5+2%x6+3=41

A 3
B 1
(o] 2
D 4
E None of the above
Correct Answer A

Marks 1



62 Question Description In a 500 m race, the ratio of the speeds of two contestants A and B is 3 : 4. A has a start of 140 m. Then, A wins by:

A 60 m

B 40 m

c 20 m

D 10 m

E None of the above
Correct Answer C

Marks 1



63 Question Description Find the Odd -Man Out
41, 43,47,53,61, 71,73, 81

A 61

B 71

(@ 73

D 81

E None of the above
Correct Answer D

Marks 1



64 Question Description Which Pair does NOT belong with the others?

A 133 -98

B 150 - 115

c 182 — 140

D 188 — 153

E None of the above
Correct Answer C

Marks 1



65 q - -
I e S P Which of the options will replace the question mark?

» (¢ mm (1( Ala ¢
e mx ol Alm o0 ¥ 7
A 0|0 Al oOl0o ®m O
(1) [( o 2 [¢ =]
x e A o
JL__!I m_O)
3 [¢ * 4 ‘o al
A @ |l C
o8 o _m|
A 1
B 2
© 3
D 4
E

None of the above

Correct Answer C

Marks 1



66 Question Description Directions: Read the following information carefully and answer the questions given beside.
A shuttle was carrying seven passengers viz. J,K,L,M,N,O and P. It is to be noted that only one passenger can exit from the shuttle
at a time. M exited before P. No passenger was left in the shuttle after K’s exit. Only one passenger takes an exit between K and J. L
exited just after O. N exited before P but after M.

If M and O took an exit on consecutive turns then who among the following exited just after L?

A P

B J

Cc N

D K

E None of the above
Correct Answer C

Marks 1



67 Question Description A train passes a station platform in 36 seconds and a man standing on the platform in 20 seconds. If the speed of the train is 54
km/hr, what is the length of the platform?

A 120 m

B 240 m

c 300 m

D 540m

E None of the above
Correct Answer B

Marks 1



68 Question Description Which Pair does NOT belong with the others?

A 7 -84

B 6108

(@ 5-75

D 3-99

E None of the above
Correct Answer A

Marks 1



69 Question Description Study the following questions carefully and choose the right answer:
Statement :
The next meeting of the Governing Board of the Institute will be held after one year.
Assumptions :
I. The Institute will remain in function after one year.

II. The Governing Board will be dissolved after one year.

A if only assumption I is implicit
B if only assumption II is implicit
c if either I or II is implicit

D if neither I nor II is implicit

E None of the above

Correct Answer A

Marks 1



70" Question Description Statement: It is necessary to adopt suitable measures to prevent repetition of bad debts by learning from the past experiences of
mounting non-performing assets of banks.

Courses of action:

I. Before granting loan to customers their eligibility for loan should be evaluated strictly.

II. To ensure the payment of instalments of loan, the work, for which loan was granted, should be supervised minutely on regular

basis
A Only I follows
B Only II follows
c Either I or II follows
D Both I and II follow
E None of the above
Correct Answer D

Marks 1



71" Question Description Directions: Following questions are based on the five three-digit numbers given below:
284 312 437 585 696

If 1 is added to the first digit and 2 is added to the last digit of each of the numbers then which of the following numbers will be the
second highest number?

A 284

B 312

(¢ 437

D 585

E None of the above
Correct Answer D

Marks 1



2 Question Description Directions: Read the following information carefully and answer the questions given beside.
Certain number of persons (that does not exceed 15) are standing in a straight linear row facing towards the north. 5 persons stand
between B and E, who is third to the left of A. U is to the right of A. Not more than 3 persons stand between U and T. B is third to
the left of U. I is fifth to the right of T. 2 persons stand between E and F, who is sitting at the extreme left end of the row.. Three
persons stand between A and L, who is towards the right of E.

How many persons stand between the one who is second from right end and A?

A 3
B 6
(@ 2
D 5
E None of the above
Correct Answer D

Marks 1



73 Question Description A man complete a journey in 10 hours. He travels first half of the journey at the rate of 21 km/hr and second half at the rate of 24
km/hr. Find the total journey in km.

A 220 km

B 224 km

c 230 km

D 234 km

E None of the above
Correct Answer B

Marks 1



74 Question Description Which Answer Figure will complete the pattern in the figure?

AVARYAE
3

?
A N Ry,
A EY N
A A
B B
Cc C
D D
E None of the above
Correct Answer D

Marks 1



75 Question Description Directions: Read the given information carefully and answer the questions given beside:
In a family of some persons Sushant says that Manu is the daughter of my sister Rhea, who is the only daughter of Tahir. Arun is
the child of Tahir and Ileana, who is the grandmother of Kiara. Roma is the mother of Trisha, who is the only sister of Kiara. Arun

1s unmarried.

How is Arun related to Kiara?

A Maternal Uncle

B Maternal Aunt

c Paternal Uncle

D Paternal Aunt

E None of the above
Correct Answer C

Marks 1



